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QUESTION 1

Click the Exhibit button. 

You are using NetApp Cloud Manager to set up replication, as shown in the exhibit. Which two replication policies are
supported in this scenario? (Choose two.) 

A. Mirror 

B. Tier 

C. Clone 

D. Backup 

Correct Answer: AD 

 

QUESTION 2

What are three REST API methods? (Choose three.) 

A. LIST 

B. SET 

C. POST 

D. DELETE 

E. GET 

Correct Answer: CDE 

Explanation: https://www.techtarget.com/searchapparchitecture/tip/The-5-essential-HTTP- methods-in-RESTful-API-
development 

 

QUESTION 3

Using Astra Control, which three steps must be completed to protect your Kubernetes- based applications? (Choose
three.) 
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A. Set the snapshot retention. 

B. Set the snapshot schedule. 

C. Copy the protection. YAML file to the/etc/ directory. 

D. Choose the application to protect. 

E. Install the appropriate application agent 

Correct Answer: ADE 

 

QUESTION 4

Click the Exhibit button. 

Referring to the exhibit, what would happen if there is a newer version of netapp- cioudmanager available when you
install the provider with the terraform init command? 

A. The newer version will be downloaded. 

B. The newer version will be downloaded only when it is a patch release. 

C. Only the exact version 21.6.0 is downloaded. 

D. Any version below version 21.6.0 is installed. 

Correct Answer: D 

 

QUESTION 5

Click the Exhibit button. 

NS0-403 VCE Dumps | NS0-403 Practice Test | NS0-403 Exam Questions                                3 / 4

https://www.passapply.com/ns0-403.html
https://www.passapply.com/ns0-403.html
https://www.passapply.com/ns0-403.html


https://www.passapply.com/ns0-403.html
2024 Latest passapply NS0-403 PDF and VCE dumps Download

Refer to the exhibit and the Storage Class information shown below. 

What are the minimum IOPS, maximum IOPS, and burst IOPS assigned to the persistent volumes that were created by
Trident? 

A. "minlOPS": 600C, "maxIOPS": 8000, "burstlOPS": 10000 

B. "minlOPS": 4QG0, "maxIOPS": 6000, "burstlOPS": 8000 

C. "minlOPS": 50, "maxIOPS": 50, "burstlOPS": 50 

D. "minlOPS": 1000, "maxIOPS": 2000, "burstlOPS": 4000 

Correct Answer: D 
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